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ABSTRACT

From a unified standpoint of view, how can we understand the various chemical reactions such as neutralization,
acid-base reaction, oxidation-reduction, precipitation, complex formation, ion solvation and so on? Although the
substances are often called differently such as acids and bases, oxidants and reductants, molecules and ions, solutes
and solvents, and so on, only electrons in substances play the most important role in chemical reactions. So, in this
study we will present an electrochemical sketch of ions in solution and offer a fundamental viewpoint to understand
the substances. This paper only deals with some topics such as substance and energy, chemical equilibrium and
acid-base equilibrium. Another topics such as oxidation-reduction equilibrium, electrolytic conductivity in solution
and ion-solvent-solvent interaction will be presented in the near future.

0 Key words: ion and solvent, acid and base, oxidation and reduction, chemical energy and equilibrium0O
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ArrheniusD0000000O0O0O0O0O0OCOOOOO
goooobooooooooooocooooooboooo
goooooboooooooooooooooboooboo
goooooooooboooooooooooobooboog
goooooooooooooooOooooooDboo
goooooooooooooooOoooooDoooboo
gooooboobooooooooocooooooobooo
goooooooooooooboobobooooooboobooo
goooooooooooooooooooobooboobooo
0000000000oooodArrheniusd 0000
gooooooooooooboooOoooooDooDboo
gooooooooooooo
gooooboobooooooooocboooooobooOoo

ooooooooooooooobocoOooooooo

O00D0O0OO000000000000ArrheniusdO

gooooboooboobOONHOHOOOOODOOOO

goooooooooooooooooooooooo
gooooooooooOoooooooOoooooon
ooooooooooooooooboooooooon
oooooooocooooooooboboOooooooo
gooooooooooooooooboooooooo
ooooooboooooooooooooooooon
ood

O0OArrheniusD 000000000000 OOOOO
oooooobooooooooooobocboooooooo
oooooooocooOoOooooobocoOoooooon
ooooobooooooooooooboooooooo
goooooboooooooooooooooooon
gooooooooooooooooooooooo
oooO0OO0o0o0oOoooDOO0OO0O0n [nonaqueous

solvent] 0O O0O0OO0OO0O0O0O0O0OOOOO0OOOO

goooboooboooboboooboboooboooo
gbooboooooooobooooboboobooon
gooooobooooooooobobooooooo

OO00OBrgnsted - LowryD 0 0000000000000

Arrhenius0 00000000000 O0OOOOOOO
0000000 DbOO0o000bOO0o0obOOoDoOoo3sOoa
19230 O Breonsted O LowrydD 0000000000 ODO
00ooooUoOoUooUoUoooooooooo
Bronsted - LowryD 00O O0O00C0O0O

000o0o00o0ooooooooooooooooon
gooooo

doodoooboooooooooooooooo
0000 [proton donor]d
00o0o00o0oUoooooOooooUoooooooo
00000 [proton acceptor]l
goooooboboooooooobobobooood
gooooooobooooooooo
oooooo

Breonsted - LowryD0 OO0 O0O0O00000000O0OOO
gooooooooooooooboooooooobooboo
gboooboobooooobooboobooobooobooboobo
gbooobooboooooobooooobobobooobo
goooboooboooooboobooboooboobobobo
OOO0ArrheniusDO000000O00COOOOOCDO
OOArrheniusO000000000O0O0COCOOOOOO
goooooooooooooobooooooobooboo
gbooboobooooobooobooboobooboobo
oooooooOooobDoooDboOoo0ooArrhenius
goooboooboooooboooooboboobooDbo
oooooooooooooooboooooooboo
gooooooooooooooboboooooooobo
gooooooooooooooboooooooobooboo
gbooobooboooooboboobooobooobooboobo
gbooobooobooooobboobooooooboobobo
goooboobooooobooboobobobobooobo
ooooobooobooooboooboooobooobooo

000000 [electronegativityl D0 O OO0O0OOOOO

oooo0o0o0o0ooooOo000o0ooooo0o00o
oooo0oOoo0ooooo0ooooooooooooo
0oooooooooooooooooooooooog
Bronsted - LowryO OO0 OO0 OO ArrheniusD OO O
oooboooooobooooOoOooobooooboooooo



34 goboooobooooboooboobooobooooo

Joo00D00oooooooooooooooDooooog
Jo0o00DO0oo0ooDoDOoDoooooDooooooDoog
Joodobo0o0oo0ooo0oooooOoboOoboooo
Joodooo0oooooOoooooooooboooo
00000000000o00o00O0oOOdodBrensted -
LowryD OOOOODODODODODODOOOOL1923000
LewisOOOOODODODODOOODOOODOBrensted -
LowryO OO OOODOD0OODO0O0OODOOODOOODOO
gpoooooo
OO00Bregnsted - LowrydD 000000000000
Jooooooooooooooooooobooooo
Joo00ooDo0ooooooooooooooooooo
Joo00D00oooooooooooooonooooog
00o000000ooooooooooooonoooog
joodobo0o0oooooOoooOooOobooboOoboooDo
gooooooooooooooooog

B2 = H+H&EE (10)

0000000000000 0OD0O0ODOBronsted -

LowryDOOOOOOOOOOOOO

0000000000 moOo0oooUooooooooo
0000000000000 0ooooooooooo
goodoobobooooooooboboooooo
Joodoooboooooooobobooooooo
0000000000 oooooooomienod
0000000000 D0O0O0OO0O0OO0 [conjugate
acid-base pair] 0000000 OOOODOOOOO
0000000000o0o00ooooooooooog
gooooobooooo0o0ooOogoomieocooo
Brensted - Lowry0 000000000000 0O0OO
dddd@moooooooooboooooooooo
00000o0ooooooOoOoOoUooooooooog
000000o0ooooOOoOoOoUoUoooooooog
000000000o0o0o00oooooooooooo
Joooooboboooooooobobooooono
Joodooobooooooooboboooooo
0doodoooboooooooooobooooa
00000000 [amphiprotic) DO0DOOOCOOOO
0000000o0oooOOoO0oooUoooooooo
00000o0ouooooooooooooogo
Arrhenius0 0000000000000 OOOOO
goooooobooood

OO0Arrhenius0 0000000 OOODODOOOODOO
00000oo0oooooOOoOoOoUoooooooooog

00000o0oo0o0oooooooooooooog
00000o0oo000oooooooooooooo
gooooooooOooooooooooooooo
Bronsted - Lowry0 OO0 00000000000 OO
Jod00oooo0o0dooooooooooooooo
jodopoooogoooooooogoooooog
00000oooo00oooooooooooooog
go0o00000ArrheniusD00000O0ODO0OO
gooooooooOooooo@mooooooobooo
goooooooOooooooooOoooooooo
Jod00oooo0o0dooooooooooooooo
Jodooooodoooooooooooooog
goooboooOoboboOoobobUomicoobOoo
00000000 00oooooooooooooog
gooooooOoooooooooooooo
Arrhenius0 00000000000 OOOOOOO
gooo0o0ooOoDOO0oOooooOooooooooo
ArrheniusO O0ONaOHOOOOOH- OOOOODOO
O0OArrheniusD 000000000000 0OOOO
00000000 000oooooooooooooDo
OO0O000Brensted - LowryD OOOOQOOQOOO
Bronsted - LowryD 00O 0O0O0O0O00O0O0OOCOO
gooooooooooooo

gbooobooboooobooboobobooboobo

gbooboooo

HCl=H"+CI

NH.'= H" + NHs

H:O" = H" + H:0

H:0 =H" + OH

CH:COOH = H' + CH:COO’

H:COs = H" + HCOs

HCOs = H" + COs”

[Fe (H:0)¢]” = H' + [Fe (H:0):(OH) ]*'

[Fe (H:0)s(OH) ]* = H" + [Fe(H:0).(0OH).]"

O 0ArrheniusO 00 0O OO Brensted - LowryOd O O

oooooopoooooooo0o000 [acidityl]D 00O
0000000000 [pasicity]D 00000000
gooooobOracoooboooboooboOoooOnoo
ArrheniusD0000000000000000000
gooooooboobooobooooboobooobooo
goooooooOooooooooOoooooobooo
goooooooooooooboooooooonboo



ooooooooooooon

gboooooobooboooooooobooooboo
gbooooooboobooooboooobooomoon
Brensted - LowryOD OO0 O0O0000000O0O0COO
oooooooocooooooobocooooooon
ooooooboooooooooooboooooooo
gobooobooobooboooooooobooooo
gboooooobooboooooooooooboo
goooooobooboooooooooooboo
oooooooocooooooooboooooooo

1.1 (a) Arrhenius B3 K&K S

)

35

gbooobooooooooobooooobooboobobooon
gooomoobboooooboboooobbooo
goooooooooooooboooooooobooo
gooooooooooooobooOoooobooobooo
goooooooooooooobooooooooboo
gboooboooboobooobooooboboobobooon
gboooooooooobooooboooboboon
gboooboooooooobooobo

HCI CH3sCOOH H20 NH3 NaOH
« >
[i73ds g M

1.1 (b) Bronsted — Lowry ¥
HCI CH3sCOOH H20 NH3 OH-
« gk
A% >

011 O0O00OO0OO0OOOOO0OOO0O0OO

gooooboobooooooooocoooooOooOooboOoo

ooooooooooooooooboooooooon
gobooobooobooboooooooobooooo
gboooobooobooboooooooobooooboo
gomioobooooboboobooobooboooboo
goooooooooooooooboooooooo
ooooooooooOooooooboooooooo
ooooobooooooooooobocoOoooooboon
gbobooobooobooboooobooobooooo
gboboooboobooobooboooboobooooboonon
gooooooboooboooooooooooboo
ooooooooooooooooooooooon
ooooobooocooOooooobocoOoooooon
ooooooooooooooobooOoooooon
goboooboooboobooooobooobooobooo
ooboooOoooooooooooobom oOo0o

goooobooooooooooboboOoobooOoooiiod
ooooooogoo

B2 (1) =H +HE D
H + i (2) =B (2)

gooooooodoonooooooooooo

B (1) +HBEHE(2) =HEQ) + 8@ (11
011 0000000000010 000020004d
o0oo0ooU0oooOooooooooooooo
o0oo0o0ooUooooOoOoOooOoOooooooo
000000000 0000Brensted - LowryD OO
poooooobobobbuooooooboobobboood
0oooooobobobobboooooooobooood



36 goboooobooooboooboobooobooooo

00000000000000M110000000
0000000000000010000000020
000000000000002000000000
010000000000000000000
00000000000000000000000
00000000000000000Brenstedd
011000000000 [protolysisl 00000000
00000000000000 [protolyte] 0000
00000000000 ArrheniusD 0000000
000000000000000000000000
00000000000000000000000
0o

0 0Brensted - LowryD 000 00000000000
00000000000000000000000
HCIOODOODOOOOOOOO00O0000O0000
O0ONHO0O00000D0000000000000
oooooo

HCI + H.0 = H;O" + CI (12)
NH: + H.O = NH." + OH’ (13)

OOCArrheniusD00000000000000O0
ooooooboooooooooooboooooooon
oooooooooooooooooon

CH;COO  + H.O = CH;COOH + OH"  (14)
NH."+ H.O = H:O" + NH;  (15)

gooooooooooooooboooooooon
gbooooboooboobooooooobooooo
gboooboooboooobobooboobooooo
goooooooOooooooooOogO [amphiprotic
solvent] DO O0O0OO0O0O0O0O0O0O0OO0OO0O0OO0OO
oobOoOooOooooocOoOooOoobocOoOboOooObOn
oooooooooooooooooooooooo
gbooooboooboobooobooooooboooboo
gboooooobooobooooooooboooooo
gooooooboobooooooooobooboo
ooboooooboooOooOoOoOooOoOoOoooooooo
ooooooooocoooooooboooo

H.0 =H"+ OH
H' + H.O = H:O"

ooooooooocoooooooo

H:0 + H:0 = H:0" + OH’ (16)

0160000000000000000 [autoprotolysis]
o0ooU0o0ooOoooOooUoDoDoOooooooao
[autoprotolysis constant] OO O O00O0O0O0O0O0O0O
00000 Jionic product of water] Kw OO0 OO0
go00o2s00000000000000

Kw= [H:0"][OH]
=1.008 x 10™ [mol’dm*®]  (17)

godooooooooooooobooooobooa
gOoodoooobooooboooooooooooon
0000000000 000191700 LewisO OO 0O
jooooooooodd Am. Chem. Soc., 39
01917022450 DO OG0 DO ODOOOOOOOO
J000000000oooooooooo19330d
O0000000H. S Harned and W. J. Hamer, J Am.
Chem. Soc., 5500 1933[1 2194[T]
O0O0O0OKWLOOOO[HQPOODOOOoOooOoOoOOoO
0od0oooooooooooooooooooog
Jood0ooooooooooooooooooog
25 000000000000 0oooogooogon
odooooooooooooobooooobooa
0000000000000 00003@ H00=
GOH00+R T In[H0000000O0O[H0] =1
jooooooooooooooooooooa) =
100000000000 0000000oooog
Jo000o0ooodooooooogooooooog
odoooooooooooooooooooog
od0d0oooooooooooboooooobooa
OOod0o0oooooooooooooooooood
0000oooooooooooooouoooooog
Jo000o0oooo0oooooooouoooooog
Jod00o0oo0odoooooooooooooog
00000000[HO] = 100000000000
gOoodooooboooobooooobooooooon
[00]l=10000000000000DO0DODOO
Jooooooooooooooooog

obobooooo0oooOooOoOoOoOoOoOoOOOOOoOooo

gooooooooooooooboooooooboooo
goooboooboooboboooboobouooboooo
gboooooobooo
gooobooobooboooboooooobooobooo
gooooooooooooobobooooooobooboo



ooooooooooooon 37

0000000000 0HO 0000000000
000000000000000000000000
000000000000 fhydronium ion] 0000
000000000000000000000000
0000000000MmMO00000000ononon
00000000000000HADDOOOOOOO
000000000000 00000000000
0o

HA + H.O — H:O" + A (18)

Joodooboboooooooobobboooooo
0000000000 0oHAOOOOODoOOOoOOO
HO"ODODODODODODOODOoooooooooooo
00000o0o0oooooOoOoOoOoooooooooog
0000000o0ooo0O0oooooooooooo
O [leveling effect) OO0 O0DODOO0BOOOOOODO
goodoobobboooooooobobobooooo
0go0o0o00o0oooooboooooooooooooo
0doodooooooooooooobooooooo
OH" 00U000O0OO0OOOOOoOoDOUOoobooboOoODoO

B+ H.0 — BH" + OH (19)

O0looooooooooooboooooobooooo

0doodooobooooooooobooooooo
00o0o0oUooooooOoOoOoUoOooooooooog
000U00ooooooom7yooooooooo
00000000o0oo0o00oooooooooooo
Joodoobobooooooooboboooogo
Joodoooboooooooooboooooooo
000d00b0ooboi12000150000000 180
oo0oooooooooooooooooooo
0000000o0oO0oOo0O0o0ooUooooooooo
0000000000o0o00oooooooooooo
Jooooobobooooooooboboooooo
Joodoooooooooooooboboooooo
0doodoooboooooooooobooooooo
00000o0ooooooOoOoOooUooooooooo
0000000o0oooO0oooUooooooooo
0000000000o0o00ooooooooooog
goooDbOoOo0ooooDmi1e00bDbbOOoOoOooo
0o0odoooboooooooobobooooooo
0doodoooooooooooooobooooooo
00000000000 [Le Chatelier's principle] O

0oooooooobobooooooooobooood
0oo0oooooooboooooooooboooood
ooooQoooooooooooopooooao
[common ion effect] OO0 O0OO0OOOOODOOO0O
00000000oooooon [salt effect) OO0
oo

gooooobobobooooooooboobooood
Oo0oooooooooooooboooooodd
ArrheniusD 0000000000000 0OO0O0OO
oooooooUoooooOoooOoooooooo
00o0o0ooo0ooooooooooooooon
gooooooboboboboooooobooboood
0o00o0o0ooobooooooooooooooono
Arrhenius0 00000000 OOOOOOOOO
oo

K¥EIEOERYE: [H] > [OH]
AREEEROHHE: [H'] = [OH]
KREROHFEEME:[H] < [OH]

Brensted - LowryOD OO0 O000000O0O0OCOOO
goooooooooooooboooooooboo
goooooooooooooboooooooooboo
goooobooooooooooboooooobooboo
ooooooooooooo

goooboooboomobooobooboooboobooo

o0ooOo0oO0ooUooooOoOooooOoUooooOo
oooooOooUoooooooOooOoOooooooo
00000000 ooooooooooooooo
Jooo0oo00obDoobo@@obobboooboooobo
0ooooooobobobooooooboobooooo
ooooooooooood
00o0o0o0oOoUoooooOoooooooooooo
oooo0oO0ooUUoooooOoOooUoooooooo
000000o0o0ooooooooooooooon
goooooobobobobooooooooobooood
JgoobOo0o0oo0DDbOO0oO0o0DODOOoOHOONHOO
COOHO O SO.:HOHOXOXOOODOOOooooo
oooo0ooooooOoOooooooooooooo
BronstedOOOOOOOOOOOOOOODOODOO
000000 [protic solvent) DO O OOOOOOO
Jo0oo0o0oooDo0o0o0o0oO0o0o0D0DOoDOBrensted
0o0oobob0ooooDooooooboboooag
[aprotic solvent] DO OO0 D0OO0OODOOODOODOO
oooo0oO0ooUooooooooUoooooooo



38 goboooobooooboooboobooobooooo

ooooooooocooooooo
oobooobooodnsObOOoooooboooooo

oooooboooooOoooooocboOooooooo

ooooooooooooooo

el OR)5:HA + HS = Ho.S"+ A (20)

BELORS:B+HS=BH + S (21)

B 7' m b ERBEE:HS + HS
=H.S"+8S (22)

BCo 7w b EREES:K (HS)
= [H.81[ST  (23)

H.8° 0S° O0O0OOOOHSOOOOOOOOOO
000000000000000000000000
000D0D000000([HSY] =[s°] 0000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000 0000Brensted - Lowry

0ooooooooobooooooooboooo
oooooooooooooooo
goooooooooooooooooooooobooo
goooooooUooooooocoouooooooo
jodo0oooo0o0doooooooouoooooog
goooooobobobobooooooboobooood
Oooooooo
dooooooboooooooooooooooa
goooooooooooooooouooooooo
gooopooooO0oOoOooooocoouooooooo
jo00opooo0odooooooooooooooo
Ooooooooboooooobbooooooo g
1200 00000000000000000004d
O00000oobooo0oooooooooooono
J000Do0o0oooooOooo [protogenic solvent]d
J0000o00ooOooogog [protophilic solvent]O
goooo0ooo0oobDOoooooooooo
[neutral solvent] OO OO O0O0OO0O0OOOOOOOO
00000000000 [polarityl 0O0O00DOOO
0000o000O0o0Oooon [dipolar solvent] OO O
000 finertsolvent) OOOOOOOO0OODOOOOO
goodooOopoooooopooooooo [dipole
moment] OO0 0O0O0O0D0OOOOOO [dielectric
constant)l 0 000000000 OO0O [permitivity]
gooboboboobooooooobobobobodg

~
7ok k5 [protogenic] (% [acidic])
H2SOs4 ; HF ; CH3COOH %
/ 70 bk 4% [proticl #7770 k> [protophilic]
(M1t [amphiprotic]) (o b oz, BEME [basicl)
NHs ; (CH2NHg)2 ; HCONH: %
& [neutrall  H:20 ; alcohols %
-
e
Mg~ o k> [dipolar protophilic]
HCON(CH3)z2 ; (CH3)2S0 ; CH3CON(CHs)s,
ElSvaul 2 CsHsN ; ((CH3)2N)sPO %%
[aprotic] it~ o k>4 [dipolar protophobic]
\ CH3CN ; CH3COCH3 ; propylene carbonate %
ANEY [inertl  CeHs ; alkane %
-

012 000000 M. Kolthoff Anal. Chem., 461 19741199201



ooooooooooooon 39

[relative permitivity]D O 0O O00O00O00C0OO00O
00000o0oo0o00ooooooooooonoon
gooooooocooOoooooooooooooon
0000000000 [protophobic solvent] O OO
g0d0o0opoooooOoOooooooOooooooo
0oooooo0oooooooooooooooon
00000o0oooo00oooooooooooooo
00000ooooo00oooooooooooooon
ooooooo

gooooboooooooooooboooooooboobooo

goooboooboobooo

B = H + L
K.= [H]EE] / [B)

O00000KaeOOODOOOOOoOoOoooooo
gboboobooobooboooooooobooooo
gboooooobooobooooooooobooooboo
goooooobooboooobooooooooooo
goooobooocooOooooooboOoooooon
oooooooocooooooooboboOoOooooon
oobOoooOoooooooOooooooooooooo
goooooaoo
gboobooooboboobooooobooooboo
goooooobooboooooooooooboo
goooooooooooooobocoOoooooon
oooooboooooooooooboooooooo
gooooooooooooooooboooboooon
gboboooboooboobooobooooooboooboo
gbooooooboooboooooooooooobooo
gooooooboooboooooooooboooooo
goooooooooooo@moocoooooooo
oooooooooooooooobooooooooo
ooooooooooooooooooooooon
gboboooboooboobooooooobooooboo
gooooooboooboooooooooboooooo
gooooooboobooooooooboooooo
oooooooocoooooooobobooOooooon
oooooooooooooooobooOooooooo
ooooooooooooooooboooooooon
gboboooboboooboboooboobooooboonon
goooobooobooboooooooobooobooo
gooobooobooboooooooooooooo
gooooooocooooooooboboooooooo

gooooooooooooo
OO00O0o0o0o0o0ooO0ooOoooOon [ionization]
gobotoooooooooboooboooocdorAO
goooooooooooooboooooooboo
gooooooooooooooooooobooboo
oooooooooOooo fonpairl DOOOOOO
gooooooooooooobooooooDoobooboo
goooooooooooooooOoooobooobooo
goooooooooooooboOooooooboo
gooooooooooooocboooooooboo
gooooooboooooooooboooooooo

H—A=H-A=H +A

goooooooooooooboboOooooobooo
goooooooooooooboooooobooboo
goooOoomoooooobOoooooboooo
gooooooboooooooooboooooooDo
gooooboobooooooooboooooooDo
gooooooooooooooboOooooDooobooo
goooooooooooooboooooooooboo
goooooooboogoo
gooooobooooooooooboooooooo
gooooooooooooooboooooooobooo
gooooooooooooooooooDboobooo
goooooooOooooooooOooooDooobooo
gooooooooobooooboooooooooo
oooooooobooocoooooooboboOoobooo
gooooooooooooooboooooobooboo
gooooooooooooobooooooobooo
gbooboooboobooboooomoobooboobo
gobooHCIOODOOODOOOOOOOOOoODO
goooooooooooooboooooooboo
gooooooooooooocboOoOoooobooboo
gooooooooooooobooOoooooooboo
oooooooooooon
ooooooboobooooooooobooooooono
goooooooooooooooOoooooDoooo
gboboobooooooboooooboouooooboosd
goooooooooooooboOoOoooooobooboo
os.0000000000000000000000
gooooooooooobooobobooooobooboo
gobooosO00O000ooooossoooooonoog
gobobooooos: oobooooooooooon
goooooooooooooboOooooooboo



40 goboooobooooboooboobooobooooo

gboooooobooobooooobooooboooooo
gooooooboobooooooooobooboo
oooooooooooooooooOoooooon
oooooooooooooooooboooooooo
ooooooooooobooooboobooooons:
gboooobooobooboobooooobooooo
gbooooooboobooooooooobooooboo
goooooobooboooooooobooooboo
ooooooooooooooooboooooooon
ooooooooooOooooooboOoOooooon
oooooooooooooooobooooooon
ooooooooooomm
gbooobooooobobooboooobooooboo
gooooooboobooooooooobooboo
ooooooooooooooooboboooooooo
oooooboooooooooooboOoOooooon
oooooooooooooooobooooooon
gbooooooboobooobooooooooboo
gooooooboooboooooooooooooo
goooobooboobooooooooboooooo
ooooooooooOoooooocoOooooooo
ooooooooooOooooobooOoooooboon
oooooooooooooooooooooooon
gbooooooboobooobooooobooooo
gooooooboobooobooooooboooooo
goooobooboobooobo
gooooooooooooooboooooooo
oooooooocoooooooobooOoooooon
oooooooooooooooooooooooo
gbooooooboobooooboooobooooo
gbooooooboobooooooooobooooboo
gooooooboobooooooooboooooo
goooooooooooooooboOoooooon
obooooooboonsOobOoooOooboooooos
OBHOS"0O00O0OOOOOOBHYOSY OOOO
goooobooobooboooooooobooooboo
gbobosoooooboooobooobobooooooo
gooboooobobooooBOoOooRSOOOoOoOO
O0OB+HS=BH" +S" 000000OBH" OS” O
ooooooooooOooooobocoOoooooon
ooooooooooooooooboooooooo
gboboobooobooboooooooobooooo
gbobobooboboboboobooBobOOoOoOO
gooooooboooboooooooobooobooo
oooooooocoooooooocooooooon

goooooooooooooobooboOooooDbobo
ooooo
obooooooocooooooooboooooooo
goooooooooooooboboOoooobooboo
oooooooooo
gooooooooooooooooooooo
ooooooooooooooooboooooo
goooooobooobomobooobobooon
ooooboooooooooboooooooooo
ooooooooocooooooboooooo
oobooooobooomoooobooooo
oooooooooboooooooboooooo
ooooooooooooooobooooooo
ogmooobooboooooboobooo
ooooo
gooobooocoOoooboooooooobooOooo
ooooooooooooooooobooooo
oooooooooboooooooboooooo
ooooooooooooooooooooo
ooooooooooooooooboooooo
ooooooooocoooooooobooo
gooooooooooooobcooooooboo
ooooooooo

OO000O0OBrensted - LowryD OO OO QOOO0OOOOO

gbmoboooooboooooboobooooboobobo
gboobooobooboogobilocoooboobooon
gooooooooooooobobooooooobooboo
goooooooooooooboooooobooboo
gooooooooooooooboooooooboo
gbooobooobooboooboooobooobobooon
gboooboooooboooboooobooobobooon
gbooboooooooobooboooboo

Brensted - LowryOD 00O O00000O0O0COOO
gooooooooooooobooooooobo
goooooooooooooboooooooobooboo
gboooboooobooobooboobobooOobooon
gboooboooooboooboooobooboobobooon
goooooooooo0oooooooboboobooboboo
LewisDOOOOOOOO0O0O0O0O0O0O0O0O0O0O0OO
goooooooooooooboooooobooboo
gooooooooooooooboooooobooboo
gbooobooooboooboooboooobooobooon
gboooboooooboooboooobooobobooon
gbooboooooooobooboooboo
ArrheniusO 0000000 O0O0O0O0O0O0O00O0O



ooooooooooooon 41

gbooooooboooboooooooooboooobooo
OO0O00O000OC0O0OBrensted - LowryD OO OO0
oooooooooooooooobooooooon
ooooobooocoooooooobocoOoooooon
oooooooooooooooooOoooooDoon
gbobooobooobooboooboooooobooooboo
gbooooooboooboooooooooboooobooo
goobbooooobooooobboooooobo
goooooooooobooooooboOooboOoon
oobOoooooooOooOo0oOooOoOoOoOoOoOooooo
oooooooooooboooooooooooon
gboooooobooboooobooobooooo
gbooooooboooboooooooooboooooo
goooooobooboooooooooooboo
oooooooooooboooooboooooooo
ooo
gooooooooooooo@moooooooon
gbobooobooobooboooboooooobooooboo
gboooooboboooooooobooooboboobooo
gooobooobooboooooooobooooboo
oomooobooooooooobocoooooooo
oooooooooooooooooOoooooDon
oooooooooooooooooooooooon
gbobooobooobooboooooooobooooboo
gbooooooboooboooooooooboooobooo
gooooooboobooooooooboooobooo
goooooooooooooobooooooooo
oooooooocoooooooobocooooooboo
oooooooooooboooooooooooon
gbobooboooboobooooooobooooo
goooooobooboooooooooooboo
gooooooboobooooooooboooooo
oooooooooooooooobooOooooon
oooooboooooooooooboooooooo
oooooooooooooooooboooooooo
ooooooooooooooo@mooooooon
gboboooboooobooo@mobooboooo
goobbooooobooooobboooooobo
oooooooooooboooooboooooooo
ooooobooocoooooooobooooooon
oobOoooOoooooOooOooOoooooOoooooon
gbobooobooobooboooboooooobooooboo
goooooobooobooooooooooooboo
goooooobooboooooooooooboo
ooooooooooooooobocoOoooooon

0oooooooobobooooooooobooood
0ooooooooobooooooooooood
oooo0oooUoooooOoOoOoooooo
00o0o00o0oUooooooooooooooooo
0000o000o0oooooooooomooooo
goooooobobobobooooooooooood
0ooooooooboboooooobooooood
0ooooooooobooooooooooood
oooooOooOooooooOooOoOoOooooooo
oooo0oO0ooUUoooooOoOooUoOUoOooooo
00000o0o0o0oooooooooooooooon
0o00o0o0oo00000oooo0ooo0oO0oOdLewisO
00o0o0ooobooooooooboooogooooono
Oooooooooobooooooooobooooo
oooo0oOooUooooooOoooOoooooooo
0o0o0o0o0oooooUoO0oooooooooooo
0000o00o0o0oooooOoooooooooooon
Ooooooooooooooooboboboooooono
0ooooooobobobooooooboobooood
0ooooooooobooooooooooooa
oooo0oO0ooUoooooOooooOoooooooo
oooo0oO0ooUoooooooooOoOooooooo
0000o00o0oooooooooooooooooo
0o0ooooobboboooooboboooooooboono
0ooooooobobobooooooboobooood
0ooooooooobooooooooobooood
o0ooo0oO0ooUoooooOoooOoOoooooooo
oooo0o0ooUooooooOoOooOoOUOooooo
0000000o0ooooooooooooooon
0o0ooooobooboooooboboooooooboono
0ooooooooboboooooobooboooo
0oo0oodoooobooooooooobooboooo
o0ooo0o0oOoUoooooooooOoooooooo
oooo0oooUooooOooOoooooooooo
00000o0o0o0oooooooooooooooon
goooooobobobobooooooooooood
0ooooooboboboboooooooobooood
0ooooooooobooooooooooood
00000000000000000000 LewisO
0000000000000 00OBrensted - LowryO
0000o00o0oooooooooooooooooo
gooooooboboboboooooobooboood
0oooooooobobboooooooo



42 goboooobooooboooboobooobooooo

000 LewisDOOOOOOODOOOOOO
LewisOOOOOOOOOOOOOOBrenstedd
LowryOOOOODOOOOOOO0OOO0OOO1923000
O0LewisOOOOOODOOODOOOODOOODDOO
Ooooo0oO0O0O000Brenstedd LowryD OOODODO
000000000000LewisOOO0O0O0O0O0O0O0O
goooooooooooooooooooooboobooo
gbooboooobobooboooobooboobooono
gbooboooooboobooboooooboobooono
gboobooooobooobooooobobooboonbo
goooooooooooooooooooooon

H" + OH = H.0
Ag"+ OH = AgOH
(2 AgOH = Ag:0 + H:0 2L+ 5 Z 1%, WERDb72RW)
Na' + OH = NaOH
H" + Cl = HC1
Ag’+ Cl = AgCl
H" + H:0 = [H(H-0)]"
(Zhix HO oZ&ThD)
Fe* + 6 H:0 = [Fe (H.0)¢]*
H" + NHs = NH/"
Ag" + 2 NHs = [Ag(NHs)2]"
CO: + OH = HCOs" (HO:CO: 1272 5T\ 3)
BCl; + NH: = CI:B:NH;

LewisDOOOOOOOOOODOOOODOOOODOOO
goooooboooooooooooooooobood
oboooooooooooooooooOooooooo
goooooooooooooocboooooobooboo
ooooooon

LewisOOOOOOOOO0OO0OOO0O0O0O0O0O0O0O0OO
ooooooooooo

00000000 [electron pair acceptor]

000000000 [electron pair donor]

godooooobobobboooooboboboood
gooooooboooooooooo
good

LewisO OO0 0O OO O Brenstedd Lowryd 00 0O 0
000o0o0oo0ooo0oooOooooooOoooooo
gooobobobooobobboooobboooooo
Arrhenius0 O O BrenstedO LowryOD 00000000

00000oooo0oo0ooooooooooooooog
00000ooDoo0o0ooooooooooooooog
ooooooooooo
goooopooooooUooooooooooo
BrenstedO LowryO OHAOOOOOOOOOOODOO
J000000U00ooodA” + HA = [A"OHAIO O
OO0DO0OHA OD0D0O000000000000000
00000oooo0oo0ooooooooHAOODOODO
BronstedO LowryD O OO OO0OOOOOOOOOO
goooopoooOoOoOoOooooocoUoUooooooo
gd0o0oopoooOoOooooooooUoooooooo
0do0oopoooooooooooooooooooo
00000ooo0000oooooooooooooo
00000ooDooo00oooooooooooooooo
goooooooooooooooooOooooobooo
g0ooO0ooOo0mooooooOoooooooodg
gd0o0oopoooOoOooooooooUoooooooo
0dooopoooooooooooooooooooo
00000oDoo0o00ooooooooooooooDo
00000ooooo00oooooooooooooooo
gooooooooOooooooooUooooooodg
goo0oopoooOoOoUoOooooooOoOooooooo
gd0ooopooo0oO0OoooooooOoooooooo
000oo0o0oU0oo0ooOOoU0ooUooooooooo
00000oDoo0o00ooooooooooooooDo
od
LewisODOOOOOOOOOOODOOOOOOODOO
OBreonstedO LowryO O OO OOO0COO0OOCOO0OO0O
00000000 [complex formation]| OO0 OOO0O
0dooopoooooooooooooooooooo
000000oo0o000o0oooooooooooooo
00000ooooo00o0ooooooooooooooo
gooooooooOooooooooooooooog
goooopooooOoOoOoooooooooooooo
000000000000 00O0ODO00o00OdOLewis
O0LewisDOOOOODODOOODOOOOOOODODOO
OlewisOOOLewisOOOODOOODOOOOOODO4
00oooooooooog
LewisODOOOOOOOOOOODOOOOOOODOO
goooopooooOoOoOooooocoUoUooooooo
gd0o0oOopoooo0oooooooooUooooooo
Jdooopoooooooooooooooooooog
00000000 [electrophilicloOD 00 0O0OOODOO
00 [nucleophilel] DO 0OODOO0O0ODO0OO0OOOODODOO
gooooboOooooooouooooooooooo



ooooooooooooon 43

[nucleophilic] OO0 OOOOOOOODOOOOO
[electrophile] DD 0000000000 DOOOO
gooooooooooooooooooooooog
IngoldD 000000000 C. K. IngoldO J Chem.
Soc., 0 19330011200 Chem. Rev., 157 193400 225[1]

goodoobobooooooooboboboooooo
00o0ooooooooooooooooboooooono
OJ0o0o0o000LewisDOOOOOOODOOOOODOO
goooOdooOoOooooUoboULewisbOOooOoO
gooopooocoOo0omoooocooooooooog
[hard and soft acids and bases] [0 [0 O 0 HSABO 0O O
000000000 bOOo0DbOO0b0O MR, G. Pearsondd
J. Am. Chem. Soc., 8911963135330 J. Chem. Ed., 45
[0 196801 58101

O00CLewisDOOODOOOODOOODODO19230
J0ooO0o0oO0O0O0O0oOoO0ODO0OO00OUOoBrgnstedd
LowryDd OO OOOOOOOODOOOOOODODODOO
OArrheniusO0 0000000000 O0OOODOOOO
000oooooooooooooooooooooo
Oo0ododooooooooooooooboooooono
goooooooooooooocoouoooooooag
goooO00ooOoO0ooOoUOobfLewisDOOODOOO
0000 oooooo0o0oooooooogoo
go0oOoooooboboboooooooboooooooo
LewisOODOODOOODOOODOOOODOOOOODOO
0oo0oooooooooooooooooooooo
gooooooooOobo0ooooopOoouoooooo
9300 000000000000000G. N. Lewisd J
Franklin Inst, 2261 1938[12931]

000 usanovichODOOOOOOOOOOOOOO

19390 O UsanovichO O OO OOOOOOOOOOO
goooobooboooooooobocOooooooboOoo
oooooooo

gboobooooobooboooooboooboo
gboooboooboooooooooboooobooo
gbooobooobooooooooooooo
goooooooooooooooon
goooooooooooooobcooooooo
gooooooooooooooboooooo
gboooooboobooooboooooboo
gboooooobooooooooooboo

goooooboooboooboooomoooobooooo

gbooobooobooooobooobooooooboobooobo
gbooobooobooooobooooobobooboobo
gooooooooooooooboooooooobooo
oboooooooooooOoOoOoooOooOoOoOoOoOonooo
goooooooooooooobooooooobooboo
gbooboobooooooboooboboobooboobo
gboooboobooooobooboooobobooboobo
BerzeliusOOOOOOOOOOOOOOOOOODOO
OO0D0OUsanovichO OO OOO0O0O000000000O0O
ooooooooooooooobooooooooobo
gooooooooooooooooooooboooboo
gbooobooooboboobooboooog

gbooooooboooboooboooobooobobogoon
g0ooO0ooOob0O0O0OBrensted000O00O0ODOO
gooooooooooooooboooooooobo
ooooooooooooooobooooooooobo
gooooooooooooooboooooooobooo
gboobooboooooooooobobooboboboo
gboooboobooooobobooobooooboooobobo
gboooboobooooobooobooooboboDo
goooooooooooooobcoooooobooo
oooooo

e =iHE +H
bk + e = BTk

00000000 [oxidant] OO OO J[oxidizing
reagent] 0000000000000 OOOOOOO
O00000o0o0o0oooog [reductanti00 O OO0
0000D0000000000 [reducing reagent] O O
Joodooooboooooooboboboooooo
Joodooooobooooooooobooooooo
o0oo0o0oo0oooooooOooUoooooooooog
00o0o00o0o0ooooOoO0oooUooooooooog
00000000o0ooo0oooooooooooog
goooooboboboooooooobobooooono
0goooooooobbooooooobbooooooo
Joodoooooooooooobooooooooo
00oo0o0o0o0ooooooO0oOooUoooooooooog
00o0o00o0o0ooooooooUoooooooooog
000000000o0o0oo0o0ooooooooooog
gooooobobobboooooooboboboooooono
Joodoooboboooooooobobobooooooo
goooooooooo



44 goboooobooooboooboobooobooooo

BR(1) +3EHE(2) =1 + B8 (©2)
70y

BALE (D) + &k (2)

= Z7eiR (1) + BRL(E (2)

gooooooobooobOooooobooboobooo
BronstedO O OO OOODOOOOOOOOOOODOO
gooooooooooooooboooooooobooo
ooooooooooooooobocooooooboobo

goooooooobooobilobo ooobooz2200000 J0000o00O0bOOooooOoDodBrenstedd 000
oooobooooobooobooooobOob200 O0OO gbooobooboooobobooboobooobooboobo
giboooboooobooboboooboooooboobooboooo goooo

goboobooooobooobooooobobooboonbo LewisDOOODOOOOOOOODOOOOODOODOO
goooobooboooooooooooooooobooo oooooooooooooooboooooooooo

BALETCRN & —RIL T B HA

oooooood ooooooood
PRIGE I 2
Arrhenius i [ | J;‘“?Eii_fm
2 b P
[ | BRSO
KFE, HFR%E
Bronsted —Lowry Hi [ | E DI
I
i
E || mrom s
i Lewis MG Bl e
i I Usanovich #
i |
: |
[ M .
A 4 A 4
Q) Btk —2arm L. o . O B0 L, o .| @ BRSO
D31 BHEERE TR ITEHEEAR TR ITEHEEAR TR
I I
1 GEI E R S e R SN () HRD TR |
; ¢=-=-=-=-=-=- MHEERORS —-——————) |
I BEE R — LT B A I
I < ( J > I
. : . .
| |
| |
| |

@ AF > =1 F HOFENR

A TR CrT T rE T

goobooooog



ooooooooooooon

[ 1.3 DUER :

@ (1) ~ (33, WEMOEEMEEER, (413, WEMOREMAEER EEdTE®RLR, ERT TlRFEwY.
@ (1) ~ (AOMEMBEERZDER<RIE, BETFONEELTRT. JORBERL THT, BHTHELZV. (1)
ENIERITHAMEEEAT, (RENEVFNR, —RICHZOBRAEEEATSS. (IF, BOHREEM.

® (1) MEEREE (2) BLETREOBRIE, XOXSITHEFETES,

B=BFH2ENE —— PEOBRME, BEFRALOHEMN —— P BRA=BFAEKE
I i S A S t B Ai o0 RO

BE=FBTXE5E — WHEOEENE, BTHSEOEN — P =8 TH5F

WEMORIGPEBEEERIETH S0, BILETRETHDNE, —RNICE, —HOETFREELMAFOETH/E
OB RUOHEORGTHRES (KL : H + HoO = HsO* KU 2H* + Zn=Hs + Zn2* ), %2720, BEERIEE
BALETTRISOEFERL, Wil T, KBFAK THS. RIEF : H:0 > H—Cl - H:0=H:0*+ CI
(H0)T, KB FELHCHFRENOLS CEFHEEG S BETHZAOMERREZL, HCLIZERET S, Zhid, —
RICREEREE U THEMINTVD, £, H & Cl ORLRRITETH S, KROBEEMHN HCl Do E2EEL,
BRICIESLDEOTHS, LnL, HOGFORNBIIR->TEAR, BnHTHs HEFLRILATHS CLET
FTETFOREZNTHONTWT, BILBTRIEEAD I EBTES, BILROBLTRILETEZEA S I LBHEN,
COFHHES EZRDTNDDTH S, ARILEYORETHNS 2 WITRKEMHEEEAOmRICE, FfoZEenLd
LidtEd, £, FVNNVALORETEFHPERTDRIGD, (1) & (2) OPRMERICH D BRIEEE/ZIT8L
BIURIEORFRE—FEBRTIENTELD,

@ NTRL=DE, BRPEE L CETRHESE—ETHZEFMOEERAEERTSH 2. HE - BAEMBE
B (14> OBEERL), HR-GEMMEER, ROEE - BREMMREER GERRS1 4 2 MERRE) 0
BB, TOLCBEBCESRN, FELRTO M ABREZ2ET. (1)E(2)EDTFRAY, (4)&DEMITHN,

® (DITRLEAF > — A A CROBBEN/ZEHEEEERL, EMERRTICILTEEL, (4 0EE,
Lo TAA Y OF T RAMIIINF —ICHBERIET, (T VIEET2LE, AERELDIC, HETS
F L OREEFICERLRTNERS AN, BRIOMDIEZ, (DE2)FBELD, (BNTHRTHENZDHTN,

©® BERHBEEOEH BB THAEEORERIL, HANELVAVANSETLE, IhbEk, BEIREN,

goooobooooooooooboocooooooOoboobooo
gooooooooooooooboooooooooboo
gooobooobooooooooboooooooboooboo
goooobooooooooooooooooDboDboo
goooooooooooooooOoooooDoooboo
gooooboobooooooooocooooooobooo
000000000000000UsanovichDOOOO
000000000OUsanovichDOOOOOOOOO
goooboooooboobooooobobOOobooboDoo
oo
goooooooooOooooobooooooooo
0000000000000000LewisOOOO0O0O
goobooooooOooobooboboooboOooOoOoboooo
Ingold00O0000OIngold0 00000000000

ooooooooooooooobcooooooboobo
gooooooooooooooboooooooobooboo
gobooooOoooooooOooooooOoooooooo
goooooooooooooooooooooobooo
goooooooooooooooooooDbooboo
gooooooooooooooboooooooobo
ooooO0OOmgod0DOOOOOOOOOOOOOO
ooooooooooooooooooooobooobooo
gooooobooooooooooo
oooooooooooooooooboooooooo
goooooooooooooooOoooooDoobooo
gboooooooooooOoOoOoooOooOoOoOooOoboooo
oboooooooooooOooOoooOooOoOoOoOoboOooo
goooooooooooooobobooooooboobo



46 goboooobooooboooboobooobooooo

goooobooooooooooooooooooDboo
gooooooooooooooboOoooooDooobooo
gooooboobooooooooocbooooooboooOoo
gboboioooooooobOoobooboboooo
oooo

gboboobooobmboooboobooobboobooo

gbooboooooboooboooooboboobooobo
gboooboooooooobooooboboobooono
gooooboobooooooooocooooooboooo
goooooooooooooocboooooOobooOooOoo
goooooooooooooooooooOoDboboono
gboobooooobooboobooooboboobooonoo
gboobooooooooboooooboboobooono
gboooboooobooobobooobooboooDo
gooooboobooooooooocbooooooboooOoo
goooobooooooooooboooooooboobooo
goooooooooooooobooooooboobooo
gbooboooooboooboooobooboooo
gboobooooobooobooooobooboooo
gbooooo

goooooocooooooooboooooooo

odooooooDoooooooooooooooo
Jo0O0o0O00o0ob0DbOooDOdBrenstedd Lowryd O
Jdo0o0ooooooDooooDoooOooooooo
joodooo0oooooOoooooobooboOoboOooDo
JgoodooooooooOoooUoooboooboooDoo
gpooooo

o0 booooobooobooboooobobobooobo
gboooboooboooo
goboboooobocooboboooobooOooodMXo
goooooooooooooocboooooobooobooo
goooooobooooooooooooooooobooo
oooooooooooooooooo 11
electrolyte] 0000000000 O0OOOOOOOO
goooooooMOXoooooooboobooMmgd
XO00OoOooooooooomMmxXoooooomergxee
goboocoooboooooooobooo Mz HOO
gooobooooooooooobooooooobooboo
gbooboooooobooboobooooboboobouoobo
gboobooooooooboooooboboobooonoo
gbooobooooobooobooooboobooono
gooooobooooooooobooooooooMm =

HOOOODOOoODOoOoooooo
00000000000 [dissolution process] OO O
000000000 [sublimationD DO O0OO0OOO
0000 [dissociation|D D0 O0OOOOOOOOOO
O0oo0oooOoooO0ooOoooooooooooo
gobooooboobooboobuooboboboobo
gooooooobon
0 0oooobobobooooobobboooooooboboo
ooooooo
oooosooooooMXooooooooooo
OoMiOX" DOO0O0O0OOO0o0oO0oOoooooooooo
gobobooobooboboooboobobooo

MX=M"X=M+X (24)
K= [M'-X] / [MX] (25)
K.= [M1[X] / IM"-X] (26)

KiOKs O0O00OO0OMXODOOODOODO [ionization
constant)J0 0 00O MP0OX"000 00 [dissociation
constant of ion-pair] OOO0OK: O00O00O0OO00OO
OU0O0O0Omol dm®*0000000K.LOODOOmol dm?®
0J0DO0000O0O00O0O0OO0DO0O0 [dissociation
constant of electrolyte] KO OO OOOOO0OOOMX
gdoooooooooooMPOoXtooooooooo
ooDooooo0ooooboobOoDbogn [overall
dissociation constant of electrolyte] DO OO0OO0OO0O
Omoldm*0000000K)OO0O0Omoldm*0 000

Kv= [MT[X] / (IMX] + [M"-X1)
=K K/ 1+K) 27

0oOoMXOODODODODOoOOoDOoDoOooooooOoME O
X" OOOOO0Oo0oO0 Jion association equilibrium] O O
O0O0000O0OK 0000000000000 OUOKD
000o0oMXOOOOOOOOOOOOOmol* dm3d
[ion association constant] KaO O OO 00O

Ki=1/Ko (28)

0000000000000 b0oOoooooobo
gooooooooOoooooooooboooboooooooo
goooooboooooooobooboboooooobobo
goooooooooooooooooooooDooDo
gooooooooOooooooooOoooooDoooo
MOXe® oOoooOoMOX? oooooooooo



ooooooooooooon 47

0oooooobooooooooooooboooood

0o00ooooooooooooooooooooono

o0oOo0oO0ooUoooooOoooOoOoOooooooo

Oal 0O0OO0OO0OOOOOOOOOOOOOOOOOO
O0000000OKr=KaOOOO

Ob0 OO0O0ODOOO0ODOOOOODOOODOOODOOOOD
Oo0oooooooDooMXooooooooog
OooooooMXOOOOoOooooooooog
O00ooOoooooOoOooooooom™27on
OooooMmX|E0000ooomroo0oon
O0OK: O 1000000000Kp =Ke OOODO
J00D0@ad0O0o0obOobDoOobOOobobOoDboo
goooooooboboboooooooooooog
000000000Kp =[M][X?]/[MX]OO00O0O
00000000ooooooooog (Mxjoo
00ooooooooooooooooo MPO
X']0O0O0o0Oooo0oooooooooooooo
gooooooboboboboooooobobooood
gooooooooboooooooooooooga
goooooooobobooooooooooog

OcO ODUOODOOOOOOOOOOOODODOOOOO
doo0o0oO0ooUoooooOooooooooooo
OooooooooooomMe*oXxdtoooooo
goooooobobobobobooooooooooog
gooooooobobooooooooooooog
gooooooooobboooooono
0000000oooOoOooOooooooooo
00o0o0o0oO0o0oUooooooooooOooo227o0
O0000MPOX" ]2 O0000Kp = [MP][X"] /
MX] = K K.O0OODOO[MX][DOOODOOOoooOo
oooooooomeoXdb|ooooooooo
OM2700000000K: 0 1000000
0000000ooooOoOooooooooooo
0000000000 ooooooooooMmed
XPooooomMPOXPO0Ooooooooom270
00K O 10000000Kr=Ki Ke OODOODO
gooooooobobboooooooooooog
O00Kp =[M7][X"]/[MX|[OOODDODO0O000O
J00000OMXOODOO [dissolved species] O O
doo0o0oooUooooooooOoooooooo
ooo
000000000000 K: ODODOOooooo
0000000 0OKp ODODODOODOODODO
MXOKp OO0O00O0O0O0O0OOODOODOOO0O0O00
oooooOooUoooooOooooooooooo

0000000 0OKe OODDOOOODOOOOO
0oMXOOOOOoOooDooooooooooo
MXOOOOOOOOoOooooooooooooo
00000000 [polalizabilitylDJ 0D 0000 0OK:
ooo0oooogoo
goooooboboboooooooboboooooo
Oooooooboboooood
gosoodooooobooooooooooooo
O00oooosooooooMXooooooooooo
00000o00UooOoooO0ooooooooooos ™
0000000oooooOooooooooooooog
0oooDoooooosd D00ODO0OOODOOODOO
0oooooooboooooooooboooooono
Joodoooooooooooooooooooon
o0oo0o0oo0ooooooOooooooooooooog
00000000ooooOo0oooUooooooooog
000000000o0o0o0o0ooooooooooog
gooooobobobbooooooobobobooooono
0oooooooboooooooobooooooooo
Joodoooooooooooooooooooono
o0oo0o0o0o0ooooooOoOooUoooooooooog
00o0oooUoOoUooUoooooooooooog
BreonstedO Lowry0 OO0 O0O00O0O0OOCOO0OO0O0O
goooooboboboooooooboboooooo
ooooooooo
goooosooooMXoooooooooooo
o0oo0o0ooooooooOoOooUoooooooooo
000000o0oooooO0oO0oOoOooooooooog
000000000o0o0o0o00o0o0goo-00-00
gooooobobobooooooooooo

e

*(8)0—» (M X%) —» H(8)% (29)
gooooooooooooooboooooooboooboo
gboobooboooMMXgbobobobobobdobo
gbooboXoboooboooooooooooooboo
MXOODODOOOOOoDOOoboboooobooboobo
ooooooooowme*0oooooooMxoooo
Oooox"0o00o0oU0ooUoooooooooo
XO0OoooooooooooMXooooooooxeo
gbooboboboobobobooboboMxXxbooo
gboooboooboooooboobooboooooboooo
goooboobooooobobooboooboobooobo
goboooooooobobooooMMmxobboooooo



48 goboooobooooboooboobooobooooo

JooooooooooomMoX® 00oooooogo
00ob00oooooooooobooobooooooo
0000000 [contact ion-pair] OO O OO0OOOOO
0oooooUoooooOoOoUooooooOoo
[solvent-separated ion-pair] OO0 OO 0OO0OO0O0O0OO
goooooobobobooooooobobobooooono
00o0ooooooooooooooboooooooa
0o0odoooooooooooooooooooa
O0000o0ooooOOoOoOoOoOoO [counter ion] OO0
00o0o0o0o0o0oU0ooooOoOoooOooooooooo
000o000o0oU0oooo0O0ooooooooooog
goooooobobobooooooobobobobooooggd
00o0ooooooooooooooboooooooo
0o0oooooooooooooooboooooono
00oo0o0o0o0oUoooooOoOoOoOoOooooooooo

K14 (a) HOMEHE

BEDT S

A —T

goooooooooooooooobooooooboo
oooooooooooooooboOoOoooooobooo
oooobooocooooooobocooooooo
gooooboooboooooOoobocooboooooo
0o0014000000000000000000% "0
Os*000000fiOpooOoOooooooooooon

Jooooooboooooooooobooobooooa

000000 [dielectric constant) D0 OO0 OODO
00000000ooOoooO0oooUooooooooog
[dielectric] O O O O [electric conductor]0 OO0 OO 0O0
O00O0O0 [electric nonconductor]lD 00O OO OO0
gooo1s5000000000000 [parallel-plate
capacitor] 0 0000000 ODOO00O0OOODOODODOODO
00oo00o0o0ooooOoOoOoooooooooooog

HEMGETHOBH
= =P T KB MmO

VA — A IR ORI R EAE RS, MX O E (RS D, FERHOREEHIEAL,

E — MR EL IR S B ICHRE B,

G
EFRAILORFE
EHEOBTHEE, MXHO
LEHEBBETHE X OHNL
5,

A A AT (K

<>
OB TR 2RI,
HEHKAETHE X DA

DWIZ MX OERBENEZ D,
A F RVERT B



ooooooooooooon

X 1.4 @QDHEE

—RENIE, SEIEBAA MDD D, A FRPOA A LB
U7 iR A 208, SRR ORBICH 5. BESTIIONTSH,
B L TWEHTFIE, L TWARWS T EXHEEEZ R > T b,

VRIS A1 A 2%

[solvent-shared ion-pair]

1.4 (b)
A F xR &
A F KA

BB AA A 2%

[solvent-separated ion-pair]

1.4 (c)
RN 510 S F D A mm-mmmEmERs S, Sui,
R W (K L TR 4 S VR B

v

VAR % > [solvated ion]

014 ODOOOOOCOOOOOODOOOOOOOOOOOOOOOOOOOOOOOOO



50 goboooobooooboooboobooobooooo

LS

HMOWER S

MR d

015 00000000000

ooooooooooS m00O00000d [m] OO
O0d0000ooooooooooooooooooo
000o000o0oU0ooooO0oooUooooooooo
goooooooooooogvivioooooooo
goooooooooboooooooooo
0doodooobooooooooobooooooo
ooo0o0o0o0oOooooooOooOooooooooog
0oo0o0o0ooUooooOoO0oOooooooooooo
000o000o0oU0ooooOo0oooooooooooag
000000 vooooooooooooooooo
000000000 oDuUD0 UoOooooooog
0000 voooooooooooooooo Sog
o000 dO0oooooooooooo
00000o0ooo0ooOoooon [electric capacitance]
doo0o0oO0oO0oO0oOoOoOoOoOoOoOoOOOcCcOoOOoOooo
opoooood
C=@Q/V 0300
goooooocooooooovooooooooo
000000000000 [ecapacityl DO OOOOOO
gooobooooboooobboo FOODDOOOO
[faradlJ00 00 000OF=0CV!OOOO
0doodooobooooooooobooooooo
000o0o0ooooooooU0oU0ooooooooooog
o0oo0o0o0o0oUooooOoOooUOooooooooo
ojcoooooouoUooooUoooooooooog
goooooocoooooooooooooooong
0o0oooooooooooooooboboooooogo
0o0oooooooooooooooooooood
0000QUuUiiD0D0D0oO0oooo0o0oUoeuIUInO

oooooooooooooooboooooobooobooo
goooooooooooooobcoooooobooobo
goooooooooooooooboooocoooo
ooooooooooooooobooooooboobooo
gooooobooooooooooobooooooooboo
oooooOoOoOooOoOoOoOooOoOOOoOOOOORO
ooooooooooobooooboooooooooo
gooooooboooooooobocooooooboobo

gooooooooooooooooooooooo
oobo0o000 UieuoOoooooooooood
oooOoo0o0o0O00DE OOOOO0O0DOOoOOOgvV.
od

Vo=E d={(Q/8) ] e} xd
=Qd/ (& 8) (31)

0o0ooooooooooodooooooooood
gooobooboooobooooboobooobooboobo
000Q 0D0ORUDIDDO0DDDDOO0ODOUODOooOO

O0/S0O 0000000000 0O0O0OOe.,000

0000 [permittivity of vacuum| OO0 O0OOO0O0O
gooOO00oOO0O0D3000ob0oobooobooooog
good

Co=Q/ Vo=seox(S/d) (32)

Ooo00000o0o0ve 0mM310000000000E,
O0O000E, 0 QOODODO0O0O0OO000OV.O @O0
gooooOoOoOooOooOoooOoOodC ooooe o
vooooooooooooooooom3z0ooono
oooc.000o0o0ooooooooooooon



ooooooooooooon 51

gboobooooobooobooooobooboooo
gboooooooboooboobooobooboooo
goooooooooo

£ =8.854x10" Fm'=8.854 pF m" (33)

00odooobooooooooobooooooo
Oodoooooooooooooooooooood
g0ooooOoOoOooOooOoOooOoOOOOoOOEUUOOO
gooopoooodooOoopooocoOoUooooooog
gooooooooOocogoooooooooooog
gooopoooo0oOooDOooDooO0oooooDOoooDbd
00D0DO000D0DOO0OO00D0O0O0O00DOdielectric
constantU 0 000 00000O0O0O0OOOOOOOOO
OpermittivityD OO OO OQ0OOOD0OOOOOCODOOO
gooopoooOooOoOoopooocoOouoooooooo
[0 0O O dielectric constant[] permittivityD 0 O 000 0O
goooooooDooboOoo3ooooboooooog
JoQuooocopooooooooovono/s bpog
Ooodooooooobooooooooooo

gooooooocooOooooooooOoooooo
Jo00oo0ooo0oooooDoo0oDoood [permanent
dipole moment] 0 0000 O0O [polar molecule] O 0O O
JdoddooooooooooOO0O0 [nonpolar
molecule] OO0 0000000 DOODOODOOOOOO
00o0b00ooooooooooboobooooooo
goooooocoUooooooocoooooooobooo
gooopooooooOooooooUouoooooooog
goooooo0odOooopooooouooooooog
Jooooos“00s"0000iuuoooUUo
J0QUobO00oDOoD0Dooooooooooong
000oooooooooooooooooooooa
goooooooooooooooOouoooooooa

ooooooooooooooobooooooooodm

ooooo0o0o0oO0ooooOoO0O00O0oooooOo00n
oooooooooooooooooooooomo
000000000 [induced dipole moment] OO OO
oooo0ooOoooooooO0oooooooooooo
oooooooooooooOoOoOoboOoooboooboOooono
oooooO0o0oO0ooooOoO0O0O00O0ooooOO000O
oooooo0oO0ooooO0o00OooooooO0on0no
gooooOoOooooooooOooOooooooooo
oooo0oOoooooooOooOooOooooooooo
ooooooOoooooooOoooooooooooo
oooooooobooooboOoOoOoOooobooooOoonoo

gbooobooobooooooobooboobobooboobo
goooboooboooooboobooobooooobobo
0000000000000 ooooo0o0o0o0o+
ooOOO0O0O0O00000000000000000
goooooboooooooooobooooo

00000QuuiQuuiiooooooooooog
goooOoooboboooOobOoboeE.0O0O0DOODO
goooooooooooOooobOoOobobOOooDbDOE
od

E=E. /D (34)

ooboOre0000D0O0O0O0O0O0O0ODOOOOOVDOO
gooooooooooooov.ooooon

V=Ed=(E. /D) d=V,/ D (35)

gbooobooboooooboboooobobooboobo
gboooboooboooooboboooobobooboobo

00QUUIQ U00oooooooooooooog

goooooooooooooobooooooboobooo
ooooooooooooooocoooooOoobooobooo
gooooooooooooooobooooooobooboo
goooooboobooooooooboobooooooo

gooooOoooooooooooOooooDoDo
oooocoo

C=Q/V=Q/(V,/D)=D(Q/V,) (36)

C=DC (37

03200000000

C=D & (S/d) = «(S/d) (38)

gooo

e=D & (39)

0000eO00OO0ODOODOOO [permitivity of
dielectric]d O 0O 0O O O O O dielectric constantd O 00 D
00000000 ed000dboOb0OOe,noooon
0000 [relative permitivity] D 00000

D= ¢/¢ (40)



52 goboooobooooboooboobooobooooo

gooooooooooooooOopoboboOoOoDo
gbooobooooobooobooooobobooboooo
gooooboobocoooooooocbooooooobooo
ooooooooo

D=C/C (41)

000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000 [Coulomb'slaw] 0000 O
OO0r[m O0O00000O000Q [CIO0Q [CIOO0O0DO
O000O0fNJOOO0DOO0O0O0O0O00O000O0000O
00000000000000

(BZzeth) f=Q°/ (4 7 eor?) (42)

((bEFER D otk Hh)
f=Q°/ 4z «&Dr”?) (43)

goooooooooooooooOooooDoobooo
goocooooobooooorobobOoOo0obOooobo
oooooooOoOoOooooooowooooOOoO0oono

gooooogo

(Zerh)
w= [ fdr=0"/(4ne,r) (44)

(FERER D Oifkeh)
W= f’fdr=Q2 /(4me,Dr)  (45)

01300wohoOO0o0o0o000oooooooooboOd
ooooooooooooooobooooooooobo
goooooooooooooobobooooooboobooo
gooooooooooooooooooooDboODboo
gooooo0oooOOoooDO0oobDOooooobDOoooD
gz0b0b0000o0ooooooobooooooobooo
ooooooooooooooocoooooOoobooboOoo
gooooooooooooooboooooooboobo
gooooooooooooooobooooooobooo
oooooobooooooooooooooooo

goooooooOooooooooOoooooDooDbo
gooooooooooooooboooooobooo
ad

013 ODOOoOooOoOoOODOO0ODOOW

VLRI HEEED W/ kJ mol!
H27E 1 415
AFIVAITFIr > 13.11 31.7
Teh 20.70 20.0
5 =)V 24.55 16.9
T hZbUIL 35.95 11.5
PAFIVEIVLT IR 36.71 11.3
JaEL > H—HRF—h 64.4 6.4
VI 78.30 5.3

A A %% Nat - ClOy EL-EHEFITH 2. Q IIBLRFEE [elementary charge] e 12725,

e=1602x1019C T, 1+ HOEHITIr=3835pm &L=, EEQLRFEERITL TH5,

Wid, 1mol (6.02x 102 E)D1 A L OBHICKHERHETRLE,



ooooooooooooon 53

gbooo0oooooOoboOoooboooOoOooooobonoo

OO0O0OArrheniusD0O0O00O0OO0O0OO0OOOO
Ostwald0 OO OO0O0O0O0000O00O0O0O0O0O0O0OO
goooooooooooooboOooooobooboOoo
O00Ky 000000000000000000a 0O
00o0oooco0oooooooooooooooo
gobooooooooDo0oOobDoOoO0oD1e@mOOn

000000oo0ooo0ooOooool moldm®* OO0
gbooobooobooooobooooobooobobooDbo
oooo

KK=Ca’l 1- a) (46)

0 0.02

0.04

0.06 0.08 0.1

ERVEIERE  C/mol dm™

016 ODOOO0ODOOOOODOOODOOOODOOODDOOODDO
O0000OKe moldm®*0 OO0O0OOO0O0O0aO0O0COOOOODOOOOOOO

gooooooocooooooo
gbooobooobooboooooooobooooboo
Oal O0OO0OO0OODOOOODOOOOOKOODOOO
gbooboobooooobooooomoooo
AG=AG +RTInKOOOOOODODODOOO
goooooooooobAG =0000000O0

oooooo
Ob0D OOOOOOO0O0OOODOOOOCOOOOO0O
gbooboooooboooboooobooobooo
gboobobooooobobooooooobooooboo
ooooooooocooooooOoooooooon
oooooooooooo

OcO ODOOOOOOOOOOOOOCOOOCOODOO
gbooboooobobooboooobooobooo

ooooooooooooooooooooooo
gboboobooboooobooboooboooog
gboomooboooboobooooooooooo
goooobooobooooobooooooboooboo
ooooo

O0d0 O0O0O0000O00O00OHAODOOOOOOOO
OOD0OHA =H" + A" 000000000000
gbobooboobooooboobooobooboo
UONaAODODOOOODOOOOODODOOObODODOO
Uboo0o00o00Ob0DO0OHAONaAODOOODOO
goboooooooooobooboboHAODDOOO
oooONaOHOOOOOOOOOOOOOODOO
goooooooocoooooboooooooooo
gboboobooboooooboooooooboo



54 goboooobooooboooboobooobooooo

goooooooooooooobooooooDooon
goooooooooobOoooooDOoooooon
goooooooooobooooooooooooo
gobooboooooOootobobooboooomabnoon
gooooooooooobooobooooooonooon
ooooaGiOoUOOOOO0OOOOOOOOOoOOOn
ooooooAG=000000000000000
go0ooobOooooooooooooooo
oooooooooooooooocooooooon
goooooooooooooocoooooooboooo
ooooooooo

o0 0Ob0OooOooooOoooooog

Jdoodooobooooooooobooooooa
oo0o0o0o0o0oUoooooOOoOoUoOoooooOoooo
000o0o0o0o0oU0ooooOo0ooUoooooooooo
0 [power of the hydrogen ion]dOpH OO O0OOOO0O
0O000D0O00000OpHDO DO 19090 0O Sprensend O
000oooooooooooooooboooooono
gooooosiooooooooobooooooooa
oooo0oO0o0oUooOoooOoOoOoUoOooooooooog
O0000o0ooU00oooopHOOOOOOOOOO
000000000o0ooo0o0ooooooooooo
oooooooo

pH = - logw ([H'] / mol dm™) 47

gooooboobooooooooobooooooooboobooo
gooooooboooooooooboooooooooboo
goooooooooooooooooooobooboo
oooo

e J000ODODOUIOODDDOOODO
00000o0oU0oooooOOoOoUoooooooooo
000o000o0o0oooo0O0o0ooooooooooo
gooooooboboboboooooobobobboooooo
goooooooboobobooood
e 10IIODOODOOOOO
OooUoooooooooooooo [law of
conservation of mass] 0 0000000000000
0000000oU0oooo0o0oooooooooooo
gooooooboboboboooooobobobobooooogd
goooooooooo
e 1O0IOOODODODDOOOOOO
00o000o0o0oooooOoOoOooOooooooooo

00000ooooo0oooooooooooooooog
ooooooooobDoooOgog [principle of
electrical neutralityl| 0 0 0000000 0O0O0O

0000mo0o0ooooooooooooooooo
00000000 0HADODODODODODOOODOC.
mol dM*0 00000000 000000C.O0000
[initial concentration]d O O O [total concentration]d 0
000000 [analytical concentration] D OO O O0O0O
0000000ooooOo0oooOooooooooog
00020010 000000000000000000

gooobooobooo

HA =H"+ A" GE&ER

H.O=H"+ OH
K.=[H][OH]
=1.0x 10" (mol’ dm®) - )

gooooogoo

C.= [HA] +[A] = [A] — (i)
([HA] = 0 T %)

oooooo00o00Oo
[H] =[A] + [OH] - (111)

C. 0Kw O[H00000000000000O0[H0]00

0000000000555 mol dm?*00000000

[HU]O[OHY]O (A0 00000000 0D il i

0000000000000000000000
O00000O0[HY000000000000000

Ooooooooomiooomioooimoooo
oooooo

[H] = C.+ K./ [H]
00oooooooo
[(H) - C. [H] - K.= 0 (48)

gboooboooooogoon

H1 =, +,/C2 44K, )2



ooooooooooooon 55

ooo0o0o0o0oOWPloooooooooooooo
00oo0o0o0o0oooooooooooooOgMR] O Ce
O00o0o0o0oo0o0oooooOo0oooooMAo
goooooocooooooooobooo
oooooooooooooooooboooooo
ODal OO00OO0OOOOO0DOOOOOOOWOOODOOO
oooooooooooooooooooooooo
goooO0ooOooDOOooOoooOOooOoobDOoobOOon
[H/looOoDOoO0o0o0o0oooooooOO0o0ooOoooDoo
ooboocoobooHAOOOOOOOOODOOODOO
Ooo00000000H00000000000000

(H'] (&8
= [H'] (HA B3k) + [H'] (H:0 Hi3k)

Ob0 O00O0D0400000000000000000
000000000000000000000000
000000000000000MHD000([AY]
0 [oH° 0000000000

[H] =[A]1 + [OH] = [A] =C.

oooooooooooooooooooooooo
gboooobooboooooobbooooooboooo

gooooooooooooooooooDbooboo
gooooooooooooo
oboooobooocoooooooboooooooo
oooooOo0oooOoooOoOoMiIDooooooo
gogoHjoooooooooooo

[OH] = K./ [H] GE{LU#E)
= Kv/ C. = [H'] (H:0 H13k)

C.=[H°J000000000[HOH0000000
000000000000000000000000
000000000000000000000000
00000000000 0000000000000
000000000000000000000000
0000000000000 00000000000
000000000000000000000000
OcO O0D0OO0OOOOODODOO0O0000O0O0O0ODOOO
000000000000000000000000
000000000000000000000107
mol dm*0 0000000000000 00 M 480
000000O00[HY] = 16 x 107 mol dm*0 000
10 x 107 mol dm® OOH’ 00000000000
00006 x 107 mol dm® OOH? 0O0O0O0O0OO0
000000000000000000000000

r r r r T r r r T r r //
10 | pOH=14-pH (E{%721# ) -
jast L pH GEUE )=-log C,
OQ_ pA=-log[A7]
R L =-log C, i
A B LA -
I, L \ @®)Rick 2 _
5 pH (R 72 M )
| pOH=14-pH GELIE) i
0 1 1 1 1 | 1 1 1 | 1 1 1
0 5 10

-log (C,/ mol dm )

017 ODOHAOODOOOpHOpOHOOpA=-log[A- 00000 COOO0O
pOH = - logd [OH] / mol dm®0 = 14 - pH



56 goboooobooooboooboobooobooooo

O00000OH? D0O0000O00O0O0O0oOO0OOo
goooooooboo

00O0C; mol dm® DOOOBOOOOOOOOODO
0000000000000000000000000
048000000000000000000000O0
0Oo00oooo

[OH]*- G [OH] - K.= 0 (49)
0000000000000000000[HY)D[0H]0
c.0CO000000000000000000OnD
0000000000000000000000000
000000000 adDbIDcOOOOOOOOOO
oooooo
0000000000000000COpHOODOO
0001700000

o0 O0Oo0oooooboooooogb

gooooooboobooooooooboooooo
gooooobooooooooocoooooOooboooa
00000000 O0C. mol dm*I 000000 K. mol
dm*0 0 0HAOOOODODOOOOOOODoDooooo
gbooboooooobooboobooooboboobooono
oboo

ooooooooooad

HA=H"+A
K.= [H'][A] / [HA] (i)
H.O=H"+ OH
K.=[H"J[OH]
=1.0x 10™ (Il‘lo]2 dm'e) ............ (i)

oooooooo

Co=[HA] +[A] - (i)

gboooooogo

[H4 = [A]+ [OH] = Giv)
Divo000OD0D0D00000000000000000
0000000000000000000000000
0[HY]0[A%]0 [HAJO [OHP 000000000000
0000000000000000000mMi0oo0n

[A°]0[HA]D M0 000iv0 0000000000
oooooo

[H*]([H"]-[OH])

K, =
¢, -(iH71-roH7)

(50

Ui0d0000000000du0O00d[onHY] = Kw /
H]DOS00C00D00000O[MH00D000000
goooooooooooooooooooooooao
000000 0000ooo0o0oO0obOooooobooa
ooo0o0ooooOooao

OO0o0b0O0oo0ooOoommsoooooobooooon
goo0oooodooooooooooooooooo
gooooooa
OOoooooooooooooooooooooooo
O0[HY] 0 [OHJ0000000000000000
0000MmMs0000000000[H] - [OH |0 [H+]
O000O0000o0ooboOomso0ooooooooa
goood

QP L110 E

C,-[H]

go0oOoo0obOoo0obOooobOoooOoivboooooao
[H°] = [A”] + [OHUIO[A® 0 000000000000
[(HlOOOoOoOoOoUoooDOoOoUooooouoooooo
000000000 0K.OC.000000D000o0o
0000o00ooooooooooooog[oHt]od
go00o00o0ooO0o0o0ooobooooon
00o0000oo0ooooosi00000do0cC. O [HE O
O0000ms1000000o0o0000oao

_ [H*]?
“ C

a

[H']= {C,K,

000000000000000060000C. =
[HA] + [A"]D[HAIDD 000000000000 O00
000D0O00000000000000000000
053000000[HYI0C.0000000000000
0000000000000

K (52)

(563)

gooooooooooooooboooooooobooboo
gbooobooboooooboboboooboobooboobo
gooboooobboooboobboooobboooo
gmooobooboobooboobooobooboobooo
oooooooooooooooboooooooooo



ooooooooooooon 57

0000ooooooooooooooooo

O00OBrenstedd LowryD OO DO O00D0O0O00OO0O
goooooooooooooooOooooooooag
OBOOOOODOOOONH.OOODOOOOODOODOO
ooooBH'OOOOOOOOOOUOOOOOOOO
jooooooodooooooogscoooooog
00000000000 000oo0oo0BHYAROOO
0000000000000 C. mol dm*0 00000
O0O0O00OBH" O0ODO0OO0ODOOK.OOODOOOOA"
oooOocCcP Oo0oooooOoO0ooooooooooo
OBregnstedd LowryD OO0 O0O0O0O0OO0DOOOOO0O
oog

gobobooosOO0O0O0oO0OO0oOObOObOObOODbOOD
Comoldm*000000000KOO00O0

goooooooooo

B + H:0 = BH* + OH"

Ky = [BHY][OH] / [B] = i)
H:0 =H*+ OH"
Kw=[H*][OH]=1.0x 1014 (mol2 dm™) - (ii)

oooooooo

Cy=[Bl + [BH*] - (i)

oooooooood

[BH+] + [H+] = [OH-] ............ (IV)

DivD0000O000000000000000000
0000000000000000000000000
0000000000000 O0([BHY]O[B]O[HY]O
[OH° 00000000000 000000O00000
0000000000000000000000000
Di00O0O0[BHYO[BID Ml 000ivO 000000
0000000000

[OH™] ([OH™]-[H"])

= (54)
¢, —([oH"1-[H"])

000000000000 ([HY] = Kw / [OH"]0000O
I:I[ID]54DDD[OHD]DDDDDDDDDDDDDD
goooooooooooooooooooooooo
Oooo00oOoooooooooboooooooooo

gs00 0000000000000 000O000O0O

0000000000000 00000K.O0K,O0OCa
Oc.O00[HYIOOHIODODODODODOmS54000
00oooO0ooO0oooooOooooooooooOomMo
[oHMODOOOCOOoOOoUOUOOoUOooooooooooon
ooooooooooooooo

BronstedO LowryOD OO0 OO0O0OOO0OOOOOO
gooo00oob0O0bO00O0b00b0O0OK, DOODODOO
A0 0000000000000 0O0O0O0O0ooooog
OCy mol dm®* 00000000 D0O00D0OOO0O
goooopoooOoOoUoOoooocooooooooog
oooooooMPA"OO0O0OO0O0OO0OOOOOOM® O
Na® 00000000000 OOOBrenstedd Lowry
00oooooooooo

O00000O00Brenstedd LowryD O OOO0O0O
ooooooooooooooobooooooooobo
gooooooooooooooboooooooboooboo
goooooooooooooobooooooobooobo
goooooooooooooooooooooboobooo
OOHAOOOOODOOOOOOOA” ODOOCOOOOd
ooooooooooooooBHOBOOOOOOO
gboobomoooooHAOCOOOOOOOODOO
ooooooo

HA=H*+A-

oooooooboooooooooboboooooo

H:20 = H+*+ OH"

0000000000000 0o0o0OOoHAOHYOARO
H.OOH" DO0oH' 00000000000 OoOooono
gobooooboooocoooooooHADCOOOO
HOOOOOOOOOOooooooooooooooo
gooooooooooooooboooooobooboo
goooooboooooooooobooooooooonm
0000000000 00A0OH00HADOORHYOO
gbooobooboooboooog

A+ H20 =HA + OH

OO0OD0ODHAODOOUOOA" DOOOOODOO0DOOOO
gboooboooboooooboooobooboooboobo
oO0[ [Doooo0ooo0ooooooooooooo
gooooooo



58 goboooobooooboooboobooobooooo

_ [HA][OH™] _ [HA] K, _ K, _ K,
’ [A'] [AT] [H'] [H']A] K,
[HA]

gooooooooooooooboooooooboooboo
ooo

(AR E IR Ho O IE B BREE R DBIR)
KaK»=Kw (55)

goooooooomooooooooooooboobooo
goooobooooooooooomssobooonog
000000K. UKy OKw ODO0OOOOODODOO
goooooooooooooooOooooooDooo
gooooboobooooooooocboooooobooOoo
gomssoboboooooobooocoooooooonoo
goooooooooooooooooooooboobooo
goooobooobooooooooooboooooobooboo
goooobooobooooooooooboOooooDboDbOoo
gooboooooobOooboO0oboOooDOobOOoboOooDo
goooboobooooooooobobooboooooboobooo
goooobooooooooooocboooooobooboo
gooooooooooooooooooooboobooo

good

o500 000000000000 oooooooad
o0oo0o0oO0ooooooOoOoooUoooooooooo
00o000o000ooooo0o0ooUooooooooog
O000pK.O0ODOOOOOOOOOOpK,OOOOO
O000000pK: = - logd K. / mol dm?®0 00 0O J
0oooooooobooooooooooog

gooooooooooooobobooooooobooboo
00000000 HADOODODOOMHYIOHAOOOOO
O000000oooooooOooA"dooooon
gooooooooooooooobooooseoboboo
oooooooooo

00A” + H:0 = HA + OH”
H.O = H” + OH"

Ks = [HAJ[OH"] / [A"]
Kw = [H][OH"]

O Co = [A"] + [HA]

00[H] = [A"] + [OH']

ooo0000000KO0O000000

10 DR

K, =[HT/( C,-[H)

pH

BEORLIR

pH=-log (C,K,) "?

- log ( C,/ mol dm’ )

018 0O00000GCOpHOOOOKa=1.8x10moldm* 0000000



ooooooooooooon 59

_ (c,~[m*1-[on)) [oH]
- [H*]-[OH']
(c,-(H"1-[oH) &,
~ [H']-[OHT]  [H']
K, . []([H7]-[oH)
K, ¢, ~(ur)-[on))

goooooooooboooooHAODDOOOOOOO
goooooosoooooooooboo

01800000000pHOOOODOOOOPK. =
4000000000000 00O0000DOO0O00O0
oooo

oo ooooooocoooooooo
ooooooooooobooooobooooooon
gooooooooooooooooooooboobooo
goooobooobooooooooooooooboboo
gooooooooooooobooooooooboboo
gooooooooo
O0OHAOOOOOOODA D OOOOMAOODODOOO
O00OOmol dm*0000000OO0mol dm*0 0000
oooCOO0OK.OCOOKOOOO

OOHA=HI + A" K. =[H][A"] / [HA]
MA=M"+A° 000000
A" + H:0 = HA + OH”  K; = [HAJ[OH"] / [A"]
H:0 = H” + OH" Kw = [H][OH"]

O0C. +Cs = [HA] + [A"]  Cs = [M"]

00O [M ]+ [H"] = [A"] + [OH"]
000000O0000OMP0O00O00O0000000
[A°]J00[HA|D 000000000000 0000O

goooooooooseooooooono

_ (¢, ~(or 1177
¢, ~(H"1-[0H)

(56)

gse0ooooooooooooobooonono

Ual ODOO0ODOOOOOOODOOOOODOOOOODOO
gooooooboobooobooooooooboo
ooooooooooo

gsed0000C, = 0000000 oooooono
Jo0o0o00o0oggooomsogooooogoooog
go0do00ooUoUobDcCc. =00b0UgoUuooboog
JO0o0000o0ooooooooms4ooooooo
gooooooooo
_ (e, -(onr1-17)
‘ [OH ]—[H']
K, (c,~(oH1-[H"]))
[OH ][OH"]-[H"])

000000
ELZKzzqu@mq{Hq)
K, " ¢, -(on)-mr)

0ooo0000o0Oo

Ob0 O0DO0O0O0O0O0O50000000000000
000000000000000000000000
000000000000000000000000
000000000MHADOOOOODOOOOO
O0DA000000000D00000000000
00000000000000A00000000
000000000000000000000M@O0
000000000000000000000000
000000000000000000000000
00000000000000000000000
C.=[HAIDOC, = [A°j0 000000000000
056000000000

_ 171G,
“ C

a

K (57

gooo
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